Instructions for ICDM Assignment:

Hedging is an application of derivatives to manage adverse movements of market prices. It involves taking a futures positions that carries risk which is negatively correlated with the risk in the spot position of the hedger.  Therefore, hedging replaces price risk with basis risk. The effectiveness of a hedge depends on the strength of correlation in the price movements of the hedged asset, and the futures contract used to hedge it. Therefore, the hedger must consider the hedge ratio, that is, the size of position taken in the futures contracts in relation to the size of the underlying exposure in the physical commodity market. If the underlying exposure being hedged and the underlying of the futures contract are the same asset or commodity, and the correlation is perfect one, it is natural to employ a hedge ratio of one. 

However, quite commonly, especially in the case of cross (proxy) hedging, the hedge ratio of one may not yield the optimal result. In cross hedging, the optimal hedge ratio, denoted as h*, is the minimum variance hedge ratio. The optimal hedge ratio, ℎ∗ , can be calculated from the following equation: ℎ ∗ = ρ.σs/σf, Where  σs is the standard deviation of spot price changes of the underlying, σf the standard deviation of the futures price changes, and  ρ the correlation coefficient between the spot and futures price changes. 
For this assignment, you are required to calculate ρ, σs and σf for any commodity like aluminium, gold, silver etc., by using futures and spot price data available on mcxindia.com for 1 month. 

Also find out what should be the hedge ratio if the commodity in spot is hedged with the same commodity futures. For example, what will be the hedge ratio if aluminium is hedged with aluminium futures, gold with gold futures etc.

This assignment must be done in groups of 3, and each group must work on a different commodity. CR may assign the commodity to each group through discussion. 
